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Yo 7 =[Cpx0+0. 25Cpx1. 32+ (Ed—1.25Cp) x1. 74]x
<
3 | 1.25Cp<Ed=1.5Cp | 1.74Up QuxUp/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ (Ed —
<
4 | 1.5Cp<Ed=1.75Cp | 2.30Up 1. 5Cp)x2. 30 xQuxUp/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74 +0. 25Cpx
<
o | L tp<Ed=2Cp 1 30300 o gy 1 (Bd— 1. 75Cp)x3. 03 )xQuxtip/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74 +0. 25Cpx
<
6 | 2tp <Ed = 2.5Co | AUp o a5 ") 950043, 03 + (Bd—2Cp) x4] xQuxlip/1000
Yo 3 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx
7 12.5Cp < Ed = 3Cp | 5.29Up |2.3040.25Cpx3. 03+ 0. 5Cpx4+ (Ed—2. 5Cp)xb. 29 ]x
Qw xUp/1000
Yo ¥ =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+0. 25Cpx
8 3Cp < Ed Up 2.304+0. 25Cpx3. 03+0. 5Cpx4 + 0. 5Cpx5. 29+ (Ed —
3Cp) x71xQwxUp/1000
EiQu=" 4 B Ak (') Ed=3%9E05 44 2 e K (ng/L)
Cp=#%A 3 427 Lk FiREmg/L) > Up=:%%5 %42 < i (~/kg)
w2 I RFABY F 4 (FEE D)
A B L e A KR BT P E AR
1 Cpe=pH=Cpu 0Up Yo =0
! pH<T.0 1Up
2 - Yo ¥ =QwxUp
pH>10. 0 1Up
1 Cp.=pH=Cpx 0Up ’]’I‘%ﬂf =0
& pH<2.0 1Up
2 - 1z 3 =QwxUp
pH>4.0 1Up
1 Cp=pH=Cps 0Up et =0
e
%% pH<4.0 1Up
2 K 1z 5 =QwxUp
pH>10.0 1Up
Q= P R F R EARACKERE ) - CpEEAIE T v CpriE g fLE R
Up=100~/m’
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frac i kFARRFA (B R)

s B4R S B KA B R
1 Ed=Cp 0Up Yo =0
2 Cp<Ed=1.5(Cp 1Up 1z 3 =QwxUp
3 1.5Cp<Ed = 3Cp 3Up o 7 =QwxUpx3
4 3Cp<Ed 5Up Yz 7 =QwxUpxd

L Qw=" = B RE A KEREM) S Ed=#dE g %z k(R E )
Cp=#2M A 42 Tk FHRE(RE ) 5 Up=100~/n’

G20 ARk T £ £ S COD N SS S R AR P RR B TR FIRE Y 0 2
EERw 2 S ~Fw 2 A EARMIL R F o g v S en g PR B

£k R -
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%1 IFEFEATFF PP KL f i * R AAH A

7 KR 23 2t A N His PR p
A kB f% @D _$ PH 14¢ @% A@ @ﬁ *ﬁ# ki %, Aﬁ f{ ﬁg %, ?“f ?% ﬁ% ifﬁ %%f @% ﬁﬁﬁ Aﬁ

(CMD) (=/m’) | (=/Kg) [ (=/Kg) [ (=/m3) B (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) ‘jiéﬁ‘ (=/Kg) | (=/Kg) || (=/Kg) ?g i (% @) | Ra s | (2/Ke) | (R/Kg) | (~/Kg)

(=/m3) (~/Kg) (=/Kg) | (=/Kg) JEX |
(~/Kg)

k5 5,000 9.67| * ey | 45.90 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305( 1,000 1,000| 1,000/ 1,000 1,000
fox 500 36.45( 299.43| 211.36 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305( 1,000 1,000 1,000/ 1,000| 1,000
A 5,000 13.98| 46.77| 44.96 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305( 1,000 1,000| 1,000/ 1,000 1,000
R 1,750 17.61| 89.33| 159.47 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305( 1,000 1,000| 1,000/ 1,000f 1,000
Frat 12,500 10. 44| 42.96| 80.57 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305( 1,000 1,000| 1,000/ 1,000f 1,000
EN 12,000 11.92| 12.63| 34.88 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580| 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000
EON N 16,000 10.26| 22.38| 94.77 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580| 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000
4 [ % fF 3,300 9.21| 43.12| 84.61 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
= 25,000 11.59] 19.41f 68.51 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
L] 33,500 6.18| 20.46] 93.09 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305( 1,000 1,000| 1,000/ 1,000 1,000
<@g 11,000 18.37| 45.48| 151.20 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305( 1,000 1,000 1,000/ 1,000 1,000
o 25,000 6.87 15.11| 52.83 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305( 1,000 1,000 1,000/ 1,000 1,000
¥ R B 22,500 16.63| 64.54| 91.12 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305( 1,000 1,000 1,000/ 1,000] 1,000
zfiifés 43.67| AR | AR 100 100f 39,500| 7,900| 1,580 790 790 790 7901 1,580 790 1,580| 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000
ik ERE
i;:zfi 7,200 56.40( 72.95| 70.68 100 100f 39,500| 7,900] 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305 1,000 1,000| 1,000/ 1,000f 1,000
ERCE A R
:;;%zfi 16.49| 64.54| 91.12 100 100f 39,500| 7,900] 1,580 790 790 790 7901 1,580 790 1,580 17,900 305 305 1,000 1,000| 1,000 1,000f 1,000
e S 12,000 17.57] 64.54| 91.12 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000] 1,000
2 16, 000 12.65| 41.37| 146.23 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000| 1,000/ 1,000| 1,000
f:f;itf 13,000 17.45| 79.13| 176.28 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000] 1,000
i;;jiﬁ7 o I;zq'ﬁ 32.48( 96.89| 101.07 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000] 1,000
BN 12,000 9.93| 50.30| 133.14 100 100f 39,500] 7,900] 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
S 2,500 13.15| 44.65| 51.03 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
R 11, 000 12.58| 28.03| 50.22 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 7,900 305 305 1,000 1,000 1,000/ 1,000| 1,000
Fo 10, 000 9.73| 29.40| 86.46 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
KB 3,000 9.72| 25.77] 63.11 100 100f 39,500| 7,900| 1,580 790 790 790 790 1,580 790 1,580 17,900 305 305 1,000 1,000 1,000/ 1,000 1,000
5os L 14, 000 19.74| 43.87| 82.26 100 100f 39,500| 7,900] 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000
X 7,000 8.45| 18.63 35.41 100 100f 39,500] 7,900] 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000 1,000| 1,000/ 1,000 1,000
&3 3, 800 9.78| 42.93| 123.38 100 100f 39,500| 7,900] 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000
B 400 30.23[ 78.72| 189.59 100 100f 39,500| 7,900] 1,580 790 790 790 7901 1,580 790 1,580 7,900 305 305 1,000 1,000 1,000/ 1,000 1,000




%1 IFEFEATFF PP KL f i * R AAH A
7 KR 23 2t A N His PR p
LA KB f% @D _$ pH 14¢ @% A@ @ﬁ %ﬁ# ki %, A% f{ @G %, ?“# ?? ﬁ? ifﬁ ﬁ%f @? ﬁﬁﬁ A@
(CMD) (=/m’) | (=/Kg) [ (=/Kg) [ (=/m3) B (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) | (=/Kg) ‘jiéﬁ‘ (=/Kg) | (=/Kg) || (=/Kg) ?g i (% @) | Ra s | (2/Ke) | (R/Kg) | (~/Kg)
(=/m3) (~/Kg) (=/Kg) | (=/Kg) JEX |
(~/Kg)
e 194, 000 336 Adfcy| A | AAF| AqH| A | AAF| AR | Ay | A F| AR | Ay | A F| AR | Ay | AR | Ay Ay | AP 2| A
it 78,180 3.14 20.22| 47.14 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
TR 30,000 6.30| 62.44| 88.15 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
3 20,000 9.48| 42.25| 57.56 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000{ 1,000{ 1,000{ 1,000{ 1,000
B s 8,000 17.63| 41.02] 80.40 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000{ 1,000{ 1,000{ 1,000{ 1,000
3 5,600 11.46( 79.89| 225.56 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790] 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
e = 600 35.31| *cg| *ic} 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790] 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
. &Oooii?i i 23.37] 92.06[ 94.77 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000| 1,000{ 1,000{ 1,000{ 1,000
“ 25.24| 99.68| 102.63 100 100 39,500{ 7,900[ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305 1,000| 1,000{ 1,000{ 1,000{ 1,000
i 31, 200 7.87| 19.43| 75.82 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000| 1,000{ 1,000{ 1,000{ 1,000
T4 12,500 7.05| 24.29] 93.53 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
A 21,000 7.89] 29.24| 87.50 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
<2 6,000 13.37| 52.66] 49.56 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
r 16, 000 9.42| 27.83 76.07 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305/ 1,000{ 1,000{ 1,000{ 1,000{ 1,000
¥ 3 12,000 11.37| 31.35] 54.79 100 100 39,500{ 7,900 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000/ 1,000{ 1,000{ 1,000{ 1,000
AL R BAR 350 45.00[ #4cF| AR | AR | AR A | A | AR | AF| AR AR AR | AP | A | e | A p|| AP AR | AR Ay | AP | A | 2y
R 14, 500 9.72| 22.83| 32.23 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000{ 1,000{ 1,000{ 1,000{ 1,000
w5 20,000 31.47] 91.89[ 96.07 100 100 39,500{ 7,900[ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000{ 1,000{ 1,000{ 1,000{ 1,000
Ak 22,600 7.44| 16.50] 25.00 100 100 39,500{ 7,900{ 1,580 790 790 790 790| 1,580 790| 1,580| 7,900 305 305| 1,000/ 1,000{ 1,000{ 1,000{ 1,000




